| Quardatic SOLUTIONS |

Ans : (b) &TH X'+ ax +b =0

TORETS (x-1) (x+3) &

a9 x-1=0,x=1

T, x+3=0,x=-3

e H x=1 T W
atb=-1 svasaio L)
X=-3 @1 |
—3atb=27

THEHWT (1) T (i) T
4a=-28
a=-7. b=6

a9 b & A ok H TEH T
X—T7x+6 =0
x3+%x3—3x—2x2—43{+6
X (x™+2x-3) -2(x"+2x-3)
(x-2) (x+2x-3)
(x=2) (x=1) (x+3)

3. o H T4 OFETS (x-2) B

Ans : (d) If a and b are natural numbers such that a°b’

is prime numbers, then
a’-b*=a+b

eg., a=3b=2
b’ =3"-22=9-4=5
and atb=3+2=5

= a’-b*=a+b
Ans: (¢) X+x+a=0, a>0
then D=0

I-4a>0

4a<l

1

a<—

0<l6a<4

0<l6a-4<0
equ X’ —4Jax+1=0

D =16a-4<0
So the Roots imaginary
Ans : (b) X+ ax’+ax— 15 & U6 FF x+5 21

AT X taxtax-15=0, x+5=0 78 x=-5
3 (-5)+a(-5)+a(-5)-15=0
~125+25a-5a-15=0

20a=140
a=7
Ans : (b) fag (7.-9)
fawes (b) &
Ty-9x+1=0

Tx(-9)-9x(T)+1=0
Tx(=9-9x(NH+1=0
—63-63+1=0
-125+0
I famg (7.-9) Tt & & A #1
Ans : (a) Quadratic equation x°-2ix+3 = 0
Sum of the Roots = 2i
Product of the Roots = 3
from the given options let the roots are 3i, —i
Sum of the Root = 2i

JiH-)=2i
Product of the Roots = 3
3ix(-)=3
=3i"=3
3=3 (i*=-1)

OR.
Let Roots be o, and p

Then o+p=2i ... (i)
BE=E 0 e (ii)
= (2i)*—4x3
=—4-12
(a—P)* = 161
P =4 (iii)
equ” (iii) + (i)
2o =61
o= 3i
equ” (i) from off =3
3
P=3
B=txd
1 1
p=- ({=1)
Root of equation (., B) = (31, -1)
Ans : (d) |x[ +5[x[+4=0

|)(|2 +4|x|+[x|+4=0
x| (|x|+4)+1(]x| +4) =0
(x| +4)(|x|+1)=0
|x|=~4 (g7 &) {Modulusfunction }
x|=-1 (w=a &) |

3q: aredfas g @ = =0

Ans: (a) (a-b)x" +(c-a)x+(b—c)=0

if the sum of the coefficient is equal to zero then 1 is
product the root of the equation

cannot be negative

a—c b-c
a+p=—-,. af=——m
a-b a-b
a-b=b—<. 2b=atc
a+c .
b=—— inAP.
2

Ans : (¢) axtbx+c=0,
a' X*+b'x+c' = 0 BT UH ITAFS TS o B-

2

o’ o _ 1
bc'-cb' a'c-ac' ab'-ba'
;  bc'-cb' .
o= (1)
ab'-ba’
a'c—ac' .
o= ————— s i
ab'-ba’ )

Tl (1) F (i) ¥

{a'c—ac' ]1 _ be'-chb'
~ab'-ba’ ab'-ba'




10.

11.

12.

13.

14.

15.

16.

(a'c-ac')’ =(be'—cb')(ab'~ba’)
Ans. (a) : An odd degree polynomial has at least one
real root.
Ans. (d) : Given equation is
X3 -6x+9=0
Wluchhasmopomwcmalromsandone negative real roots.
let f(\)—x -6x+9
By option x= -3
then  f(-3)=(-3)’ -6(-3)+9
=-27+18+9
=-27+27=0
wf(-3)=0
hence -3 is the real root of the given equation.
Ans. (b) : Since «, 3 are the roots of 3x2 +4x+7 =0
Lot+P=-4/3&aB=7/3

andhence.l..k.l_:&ﬁ_t:zi_”
o B ap 7/3
1 1 4
= |—t==——
o B 7

Ans. (¢) : o, P are the roots of ax? +bx +c¢ =0
Loa+B=-b/a&kaf=c/a

: ' I 1.
and equation whose roots arc —, 7 is

o |
Loe ﬁJ}
(a+13\
2 s
_L (xBJ +:1_|3_0

y? _[ﬂ]_‘,—+__l__= 0
c/a/” c/a

yz +E}.-+E= 0
¢’ ¢

=% cy2+b}-'+a =0

Ans. (a) : Since the roots of the quadratic equation
(4+m)x2 +(m+1)x+1=0 are equal
there forc B2 —4AC =0
(m+1)%? —4(4+m).1=0
=m?+2m+1-16-4m =0
=m?-2m-15=0
=>m?-5m+3m-15=0
= (m-5)(m+3)=0
= m=5m=-3
Byoptionm =5 ] )
Ans. (a) If (x-1) is a factor of x'—4x+2x—3x+K=0,
then x = 1 will be a root of this equation. so putting x =
1 in the given equation, we get 1-4+2-3+K =0
K=4
Ans. (b) : Since sin 0 and cos 6 are the roots of the
equation ax’~ bx + ¢ =0
So, sin 6 + cos 6 = b/a
squaring boths the sides,
we get (sin 0 + cos B)° = (b/a)*

11 5
o f
1

17.

18.

19.

20.

21.

22.

2 ( sin® 0 +c0s? 0 = 1\
c b
=1+2.—=— {

. e
sinB.cost = —
a

a 32

::»a""+2:1-.:=b2

::-laz—b2+2ac=0‘
Ans : (b) 3R 2, 3, FHEHW 2 +mx’>-13x+n=0 & &
7ot & a9 iR T B
faw o wdteRor # x=2 WA W

o 16H4m-26+n=0 = 4m+n=10 ... (i
3, faw Mo e H x =3 WeH W

54+9m-39+n=0=9m+n=-15_...(ii)
T, (i) 79 T (i) B FA FAE R,

m=-5 n=30

Ans : (b)q?-ﬁmrzmm (a+B)_L)=§

4
EMTot e
o +P% = (a+p)’ - 20p
o’ +p? =-3E—2><i
9 3
4
2,2
“+pe=4-2—
a“+p 5
2 2
E E +2 —+1]+30:[5= s> +2(a+[j]+3a;‘3
TR B a P ofp of
put the value
4
4-2x—
L 3 E E 3 + 4=
= 1 +2 3 +3><3 1+3+4=8
3 3
1
Ans:(c)x+l= =
X
g - X
R " Y

Ans: (@) T 4/5x2 +7x-3J5 =0
4f5x* +12x-5x-3J5=0
4x(J§x+3)—J§(J§x+3)=
(J§x+3)(4x—\/§}:0
S5 -3

N =X R
Ans: (a)y= X% - 4x+9
AW y=(x-2)+5 Fream &
e v faemam 8 3R (x-2)° freaw @l

A (x-2)° =0 AT

Ans ; (a) X =4 FHHWT x+px+12 =0 F TF I 81
s (B pa+12=0
16+4p+12=0

4pt28=0=[p=-T7]

3@, THEHOT X+ px + q = 0 F oI qL B |
b*—4ac=0



p - 4x1xq=10
-74q=0=|q=—

4
23, Ans: (b) |2y +,/2y +4 =4

T 9 H I FE W

2y +\2y +4 =16

J2y+4=16-2y
A 9 W T FE W
2y +4=256+4y" - 64y
= 4y —66y +252=0
= 2y*-33y+126=0
2y2 —12y - 21y +126 =0
2y(y-6)-21(y-6)=0
(y-6)(2y-21)=0

=y=064T }’-':-22—1

I y=6 FH H & B

4. Ans: (d) Since o, P are the roots of equn. 4x’+3x+7=0

3 7
o+pf=——and af=—
=i o=

1 1 a+p
o B ap
_—3/4 3
T

1 P | 3
- —4—=-=
7

o« P

U

o5 Ans:(¢)
X +2x-8=x"+4x-2x-8=x(x+4)-2(x+4)
= (x-2) (x+4)
XX—12 = X +H4x—3x-12 = X(x+4) -3(x+4)
= (x-3) (x+4)
TaferT 7.9, 8 (x+4)

26. Ans : (a) Let the root of the equation /x* +nx+n =0,

are pa., qo

then pa.+qo. = _—;1 (sum of roots)

= ()L(p+q)=_—;1 ............... (1)

n

and o’qp = (product of roots)

£
n .
an_p = J; ......... (11)

From (i) and (ii) we get divided

- =—n/?

Jpa  pa
- EE

=
=

27.

28.

29.

30.

- JE\/E\FO
qa VYp V¢

Aas : (¢) The equation 3x"+px+3=0, p>0
Let one root is o and other roots is o”. Then

2: :
at+o’=—— ... i
3 @

amd a.a2=§=] = o =1

We know that if o’=1 then ato’=-1 by cube root of
unity so comparision by equation (i)
i/ -1
3
p=3
Ans : (¢) f&am mar st
mx*~4x+2(m+1) = 0

HiHT0T o T arEfas (Real) €, 3797

(~4)’~4xmx2(m+1)=0
16-8m(m+1)=0
16-8m’—8m=0
8m*+8m-16<0
m*+m-2<0
m*+2m-m-2<0
m(m+2)-1(m+2) <0

N A A

-2 1
(m+2) (m-1) <0
Vool

U

m=-2 m=]

= m<1 orm= -2

Ans : (¢) f&ar & i,
(1+m*)x*+2cmx+(c*-a%)=0

T TR, O A o T T T 31
o

TR T IEET = o
1+m~*
1 c?-a’
o—=
o I+nf

= 1+m’= ¢*-a’

Ans : (d) T a, B,y TH. X’~7x*+5x-2=0 & T & @@
oy =7
op+Pyhyo=$
apy=2

1 1 1T _a+p+y _7

L ——t—
af By yo afy 2




